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Instructions to Contestants:

1. AE8E 5E 2, AEERATHNE.
Each contestant should have ONE Question-Answer Book which CANNOT be taken away.

2. ABH20E, TEHE 2o, =EE 0D, BEEH 15,
There are a total of 20 questions in this Question-Answer Book. Two points for correct answers. No
points for incorrect answers. ONE penalty point will be deducted for incorrect answers.

3. AEEREGT &ER L.
All answers should be written on ANSWER SHEET.
4. WEERE, N\SERNEFERETIER, RBRALMERFEIA.

During the contest, NO calculators can be used for PRIMARY GROUP but calculators can be used for
SECONDARY GROUP.

5. NEHBERA—EMRLEIERK.

All figures in the paper are not necessarily drawn to scale.

6. UEER, TalBEIHE,

This Question-Answer Book will be collected at the end of the contest.

AN REAATERE,
THIS Question-Answer Book CANNOT BE TAKEN AWAY.
FMEREERR, VZ8EAE, SRIZEEFERHIEHER.
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All answers should be written on the ANSWER SHEET.

DO NOT turn over this Question-Answer Book without approval of the examiner.
Otherwise, contestant may be DISQUALIFIED.
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BEE (F1E208) (B2, =EEB 0y, SEEH19)
Multiple Choice Questions (1%t ~20™) (Two points for correct answers. No points for incorrect answers. ONE

penalty point will be deducted for incorrect answers.)
1. Which of the following block categories does not exist in Blocky?
A. Lists
B. Loops
C. Games
D. Color

E. None of the above

2. What is Blocky maintained by?
A. Your school
B. Youtube
C. Netflix
D. Google

E. None of the above
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Refer to the following code for question 3 to 5

set (g o | )

repeat times

do &ange N 2

print

3. What is the expected output?

A.0 B.2 C.5 D. 10 E. None of the above

4.  What does the gap shown in the red circle below suggest?

=4l Count + RGEIEE O

repeat times

g by
print

A. More blocks can be filled in place
B. Blocky has an error

C. The two blocks doesn’t match

D. Meaningless

E. None of the above

5. What is “Count™?
A. Counting how many times the green loop repeats
B. Avariable
C.0,itisalways0
D. Counting how many blocks in the code

E. None of the above
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Refer to the following block, and respective code for question 6 to 10

set ([EEP to | (&) create listwith [ & [ZED *?
_~ Are you having fun .

% with Blocky? | ..
PAREC IENIROTL in st ( (CND (CED €X' B

wvar list;

1
2
3
4 list = ['Hey °, "Are you having fun °, "with Blocky?'];
5 window.alert{list[1].length);

6. Isthe following list the same as the above? If not, where is the difference?

set (5@ to | () createlistwith | () create textwith | &€ ”»
. Are you having fun [

1 with Blocky? |,

A. Yes, they are the same

B. No, this list has only one element

C. No, this list contains more text blocks
D. No, this list does not have print

E. None of the above

7.  What is the message in “window.alert”? (It is equivalent to the content of print)

A.Hey B.2 C.3 D.19  E. None of the above
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8. Which of the following code can print all of the values of the list in a single line?

intist (XD (550 €X' B

A
print | (=] create textwith | i jist m'm (# * M0
inlist ( (D |CEED CED
inlist (' (D |50 €23 B
B.
count with [[J§# from to ﬂ by ﬂ
do [(pint | inist (D) CEND CED(OR
— .
C.
set ([ to | «P»
for each item S0l in list | [EED
do. to (D append text _ (CIID
D.

E. None of the above
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9. Continuing on question 8, What is the line of output if the following block is added before printing?

intist ( (XD XD CED @ s 0 “RED»

A. Hey Are you having fun with Blocky? YES!
B. Hey Are you having fun YES!

C. Hey Are you having fun with Blocky? YES!
D. Hey Are you having fun with Blocky? 3 YES

E. None of the above

10. What is the value of the block?
COETLEO SN CY UPPER CASE - Jisamm

A.Hey B.O C.4 D. Are you having fun  E. None of the above
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All answers should be written on the ANSWER SHEET.

11. What would be printed? Why?

rint = |
P ~ length of “ random integer from ﬂ to ﬂ

A. false, because nothing would equal to a random integer

B. false, because random integer from 3 to 3 would cause error

C. true, because length of abc is 3

D. true, because length of string equals to a number in every condition
E. None of the above

12. Refer to the following code, the first line of output is 2

What is the second line of output? Why?

A. FUREEY. . Because random integer would not repeat

B. Undetermined because random integer cannot be predicted (easily)
C. 2 because i is 2

D. 2 because this is the second time the loop repeats

E. None of the above

13. Is the value of the following two blocks equivalent? Why?

length of | (2] create text with

~  Are you having fun .
 with Blocky? =2

length of | (] create list with | & ”
= =
_ with Blocky? -

A. Yes, they are both 3

B. Yes, they have the same content

C. No, length of a list would never equal to length of a text
D. No, length of list is 3 but length of text does not equal to 3
E. None of the above
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14.

15.

16.

The following code is executed but there is no output, why?

repeat | random integer from -3 R n times

do rint
-

A. Picking random integer from a negative range causes error in Blocky

B. The content for printing is not defined

C. Repeat 1 time is never happening because “random integer from -3 to 1 is exclusive
D. Value smaller than 1 is picked

E. None of the above

What would be printed with the following code executed?

(x] create list with | “wep» | is empty

empty list

else rint not em list
- L

A. Empty list

B. Not empty list

C. Undetermined because value of list is unknown
D. Nothing would be printed

E. None of the above

Can be removed in the following code to get the same result? Why?

set (E3P to | (&) create list with [ random colour
(&) if | (%D | is empty
do [ print

-

eise | prnt | injist ("D CCED €X' '@
— ' |

A. Yes, if the block can check list’s emptiness directly

B. Yes, list is empty anyway

C. The code produces error because list cannot contain random colour
D. No, because print “a list” does not print the variable “list”

E. None of the above
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17.

18.

Following is a block and the respective code

1= function colourRgb(r, g, b) {

r = Math.max(Math.min(Number(r), 10@), @) * 2.55;
Math.max(Math.min({Number(g), 1088), @) * 2.55;
Math.max(Math.min(Number(b), 1@8), @) * 2.55;

(8" + (Math.round(r) || 8).toString(16)).slice(-2);
(8" + (Math.round(g) || 8).toString(16)).slice(-2);
("8" + (Math.round(b) || 8).toString(16)).slice(-2);
return "#' + r + g + b;

om T om
[ O R |

print | colour with red 1
green

blue .
window.alert{colourRgh(166, 58, 8));

What is the output?

A. No output because color cannot be printed
B. 100500

C. #100500

D. #ff7f00

E. None of the above

What is expected output of the following block? (Assume the underlying language is Javascript)
print [ (&) create textwith | (%) create listwith [ 66 [[E0KD 2°

A. No output because the list contains elements of different types
B. No output because the list contains expressions

C.1,23

D.item1,2,3

E. None of the above
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19. Which of the following is a correct description of the code below?
o

That's great!

Hi, how are you?

= - 071 am fine |21

prompt for with message

say that's great
g g

A. User would be prompted with “Hi, how are you?”, if the user replied with “I am fine”, “That’s great”
would be printed

B. User would be prompted with “That’s great”, if the user continues to ask “Hi, how are you?”, “I am
fine” would be printed.

C. This code produces error because invalid code blocks are used, and the function name cannot contains
non-alphabetical symbols too

D. User would be prompted with “Hi, how are you?”” and nothing more because ‘=" cannot be used with
string but only with numbers

E. None of the above

20. What is the output of the following code? (Assume the underlying language is Javascript)

print | (ETEM of list | (%] create list with ﬂﬂ

A. 13 B. 18 C.21 D. 153 E. None of the above

~ £%55 ~
~ End of Paper ~



